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POLITICAL SCIENCE - II
TSt fa@m= - 11

India’s views about Indo-Pacific region

expressed in the High Level Dialogue on

Indo-Pacific Cooperation held at Jakarta

in March - 2019 were :

(a) Indo-Pacific nations should have
freedom of navigation and
continous trade.

(b) Indo-Pacific region should be free
trade zone as per international
laws.

(c) Indo-Pacific nations should be
allowed to develop a nuclear
deterrent system for their own
security.

(d) Regional conflicts should be resolved
through peaceful negotiation.

Select correct answer :

(A) (a) and (d) are correct

(B) only (c) is correct

(C) only (d) is correct

(D) (a), (b) and (d) are correct.

What is not true about SWAYAM ?
(A) It is a programme initiated by
Government of India.

(B) It is for College and University
students only.

(C) Itis recognised by UGC

(D) It provides free of cost courses

1.

STehrdl § TS 2019 H SRifa YRE-9i &
TN W I W Sien ¥ e A %
faamr 9 .

(a) YRA-W¥Id &9 <9 1 T@ad w9 9
A S T =R w9 #t
Tl BT TR |

(b) ST FHF F FTER YRA-qoid
&1 Yo SR & BT =ifeT |

(c) RT-Jumid & o I I 7o e
it fFans et =1 famm =t
At foert =fen)

(d) &g "o =1 errodt wifa amt F @y
Trgerr =nfe |

'Hﬂ'ﬁ'(ﬁﬁl’ll:

(A) (a) 3R (d) T& &

(B) a9 (c) Tl &

(C) Faw(d) T E

(D) (a), (b) 3R () 7t &

SWAYAM & for&l 11 wel 18 £ 2
(A) 9% YRA TR 1 Th TUH §

(B) &€ W WRlferanerd iR favafaamem
& BT/ BT F fod &

(C) =& favafaemer™ T eM &M B[
=Tl W & |

(D) ¥ 9.9/ Ty ST Ul
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Which of the following is not a core value
according to Confucius ?

(A) Filial Deity
(B) Honesty
(C) Humaneness

(D) Ritual

Which of the following is the most
appropriate example of multilateral
diplomacy ?

(A) Indo-Pak Agra Talks (2001)

(B) US - USSR Reykjavik Meeting
(1986)

(C) Brenton Woods Conference (1944)

(D) Lancastor House Treaties (2010)

Countries involved in the ambitious TAPI
Gas Pipeline project are :

(A) Turkey - Albania - Poland - Iran

(B) Turkey - Azarbaijan - Pakistan -
Iran

(C) Turkmenistan - Afghanistan -
Pakistan - India

(D) Turkmenistan - Azarbaijan -
Pakistan - India

FAGEY F FTER Fefated § 9 #:6 @
oo e Tl © 7

(A) Har s

(D) H@&HK

SEYET TSF 1 Faityes 3faa See fre=
AHA G R?

(A) WRA-TIfREIE T & (2001)

(B) Y.UH. - Y. UH.TH.3TR. {HIas 936
(1986)

(C) =7 50 e (1944)
(D) wHET BT HfY (2010)

At e g i A wnfirer Tecmis
[WE :

(A) T - SEEar - deie - WA
(B) qHI - ITEIH - Y - T

(C) THAMT=IM - TR - S
- RA

(D) qHATEH - e - Tfeae -
IR
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Consider the following statements :

(@) Central Administrative Tribunal
(CAT) was set up during the Prime
Ministership of Lal Bahadur
Shashtri.

(b) The members of CAT are drawn
from both judicial and

administrative streams.

Which of the above statements is/are
correct ?

(A) (a) only
(B)  (b) only
(€) Both (a) and (b)

(D) Neither (a) nor (b)

Which of the following books is not
written by John Rawls ?

(A) The Idea of Justice
(B) A Theory of Justice
(C) Justice as Fairness

(D) The Law of Peoples

Fr=fafas weEl =1 eaass w5

(a) HETT FRITHIT AT TlTel TR
It % wumEEE o wfed e on

(b) F=r FOETE EfEE ¥ 5o
=t Ua werEfer ur @ fou s #

IR F | FE GOHYT TS $/E?

(A) ¥ (a)
(B) ¥H (b)
(©) (a) TH (b) T

(D)  (a) ¥R 7 (b)

Frafeafad T # @ w1 Gt 5t Tog 3 78
fot €2

(A) =T 3mEfean sife wifew
(B) U &R HAw Wiy
(C) wfiew T§ wo|

(D) T & 3 diged
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8.  Match the Authors in Group-I with their 8.  WHg-1 % S@sHi #1 wE-11 § o3 T 1%
Books in Group-II. Y&ishi 9 faem sife |
Group-I Group-II |gE-1 qHE-11
(Authors) (Books) (o ) (g )
(@ M.N. Roy (i)  Thoughts on (a) THEE TF (i) @i A g™
Pakistan
(b) Aurobindo (i) Fragments (b) Srfe= = (i) WE=Y A Toe
Ghosh of World Mind AT
() B.R. Ambedkar (iii) The Life Divine (c) R speEst (i) T O feamd
(d) Ram Manohar (iv) Reason, (d) TETR AR (iv) 5F, Imf=fess
Lohia Romanticism and g ﬁﬂ?ﬁ
Revolution
@ (®) (© (@ @ (b) (o) (d)
(A) (v) @) () () (A) (v) @) @ ()
(B) (@) () (v) (i) (B) (@) @ (@v) @)
© @ @ (v) (i) © @@ @ (v) (i)
(D) @) (v) @) (i) D) @) @Gv) @ @)
9.  Essenceof Vivekananda’s Philosophycan 9. &&= & d@9@ % R %1 Sop= faawm
be best described as : e
(A) Neo-advaita which reconciliates (A) TE-3757 S gaaIE I SAgaaTe | Hq=
dualism with non-dualism. 2
(B) Manifestation of external and (B) wra H s iR il fawar =1
internal divinity in humans. et 21
(C) Spiritualization of one idea that (C) T YR 1 HTEATHHI S S SiteH
shapes human life. 1 STEId L 2|
(D) Supra-natural concept of (D) wififes feer & ®q & Qe AT el
nationalism steeped in religious w1 sferEEa §)
faith.
SPACE FOR ROUGH WORK / 1% &g & fod wmie
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10.

(©

(d)

11.

Match Group-I with Group-II :

Group-I Group-I1

Independent (i) Antonio Casses
Commission on
International

Development

Dogger Bank
Incident Inquiry

(i) William Rogers
Commission

Challenger Space (iii) Admiral Fournier
Shuttle Disaster
Inquiry
Commission
Inquiry (iv) Willy Brandt
Commission

on Human Rights

Violations in

Darfur
Codes :

@ (b) (c) (d)
(A) (v) (i) () ()
(B) @) @v) @ ()
(©) Gv) () G) ()
(D) (v) (i) @ ()

Which rank India has achieved in 2019,
EM2030 SDG Gender Index ?

(A) 103
(B) 95
©) 102
(D) 87

10.

@)

(b)

(c)

(@)

118

WE - | 1 W - 11 § gafem i

E - 1 e - 11
HaigE fawm () A Fam
R @A A
SR dw e (i) fafeaw e
THATER A
oIS WY Vg (i) USARe WifRR
HA T
A
e | (iv) faeit =ie
AEFIHR &
Ieoied T/
THETER 3T
C T
(@ (b) () (d)
(A) (v) () (1) @)
(B) () (v) (@) (i)
(©) (v) (1) (@) (i)
(D) Gv) () (@) (i)

EM2030 TH.SLE. 2019 5299 § WRa &
WHARA AR ?

(A) 103
(B) 95
(©)
(D) 87
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12. The Great Leap Forward Movement of  12.

Mao Zedong was meant to :
(A) Modernize politics

(B) Modernise government
(C) Modernise police

(D) Modernise economy

13. Which of the following has a legal  13.

status ?

(A) Democracy
(B) Nationality
(C) Citizenship

(D) Humanity

14. What does classical liberalism not 14.

advocate ?

(A) Rule of Law

(B) Limiting the power of government
(C) Civil Liberties

(D) Ecologism

e fiem & ‘T 92 oy wrag!! e
T T8 T 912

(A) TeHIfG 1 sy
(B) HIHR &I SATEfFanianto
© Yo =1 s
(D) SAefeHerEer 1 YT

frefefea § 9 fogst dufrer frufq 22

(A) wwad
(B) gt
(C) e

(D) WHFEE

FITaah! SeRAEE fFgs wada w8 T
®?

(A) Tfafy smam

(B) TR i il 1 Hifadiaco
(C) MR @d=dr

(D) uififeufamia
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15

16.

Assertion (A) :

Post-Cold war world is largely unipolar
with ideology of market democracy as its
dominant trend.

Reason (R) :

There has been greater devolution of
power, better ethnic balance, more
safeguards for minorities and effective
settlement of disputes in new transitory
states.

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(C) (A) is true, (R) is false.

(D) (A) is false, (R) is true.

What is correct about scientific
management theory ?

(a) Science, not rule of thumb

() Harmony, not discord

() Co-operation not individualism
(d) Maximum output

(4) (a)

(B) (a) (b)

© (@), (®) ()

(D) (@), (), (), (d)

15.

16.

AL (A) :

it Z5 3944, favd, SR oF & foamym

1 TF GHEY G A T YA & T
2l

@IUT (R) :

Hftrrar wIferdl 1 eXaiaTel Sa et
Hraoiier Al H foamel &1 gt ®9 9
THTHM BT B |

(A) (A) 31 (R) S TE € 3R (R), (A) F
T = T

(B) (A) @1 (R) <l HEl ¥, T (R), (A)
=1 HEl =T 76 €

(C) (A) T T, (R) oG Bl

(D) (A) 7o ¥, (R) 99 &1

T way fagra & fova § v s 22

(a) fagm, sfqe =1 fram =
(b) T, FHEAE T

(c) wedn, safeas T8

(d) sIfuswas 3qEA

(A) (a)

(B) (a), (b)

(©  (a). (b), (c)

(D) (a), (b), (c), (d)

SPACE FOR ROUGH WORK / 7% & & fo&r g
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17.  Which of the following aspects have  17. f=fafEa § 4 $9 &1 &5 GaFa & foru
significance for equality ? Aol & 2
(a) Status (a) wfeafq
(b) Democracy (b) TRaA
(c) Rights (c) =R
(d) Citizenship (d) AFIEERaT
Mark the correct answer. e I & Al Fifsm)
(A) Only (a) and (c) (A) e (a) SR (o)
(B) Only (b) (B) A4 (b)
(C) Only (c) and (d) (C) e (o) 3R (d)
(D) Only (d) (D) =@ (d)
18. Major aims of budget are : 18. S % Hew@ U e § :
(A) Responsibility (A) SemERE
(B) To work as an instrument of (B) W 1 Ush IYHU 9T FTH HET
management
(C) To make economic analysis (C) oTfedw faversm %1 gfaurse =
convenient
(D) All of the above (D) 3ulre At
19. What is correct about Development  19. o= y9ma= & favg & w@ *=n &7
Administration ?
(a) Ttis a dynamic process. (a) TT TF TiaRia wiEEa T
(b) Itis a joint effort to achieve goal. (b) R & I i T HYF TAH ¢
(c)  Itsolves the problems of developing (¢) %% fosraeial <o+t G951 &
countries. FEE!
(d) It is governance machinery for (d) =% fUse gu & fae weE o= 2
backward society.
A) (@) A) (@
(B) (a), (b) B) (@) @
(©) (@) (b) (9 - (© (@), ®)(©
(D) (@), (®), (c), (d) (D) (@) (), (c), (d)
SPACE FOR ROUGH WORK / 7% & & fa smg
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20. Who among the following was associated

21.

22,

with the initial stages in the growth of
comparative politics ?

(A) Karl Popper

(B) Arthur Bently

(C) E.H. Carr

(D) Graham Wallas

Which of these is matching in the context
of Utopian Socialism ?

(a)
(b) Saint Simon

(c) Robert Owen

(d) George Bernard Shaw
(A) (a)
® ()
© @
D) (@)

Charles Fourier

Aristotle has been described as the father
of politics because :

(a) He adopted inductive method.
(b) He was an empirical thinker.

() His approach was analytical,
observational and experimental.

(d) Headopted speculative and a priori
method.

Choose the correct code from the below :
(A) (a), (c) and (d)

(B) (b), (c) and (d)

(©) (@), (b), () and (d)

(D) (@), (b) and (c)

20.

21.

2%

oS rHiTa & foemm § Arfus <o
% e fe 4 9 = wweg o912

(A) el 9T
(B) 3eR sizett
(C) ITE FR
(D) WTEW S

FEAIEH G TAEEGE & e § HH gafer
g2

(2) =eH BRER

(b) He WA

(c) T&E A

(d) st aArE wf

(A) (a)

(B) (a) (b)

(€ (), (®) (©

(D) (@), (b), (0). (d)

STTE]. 1 USHITT T FHSET Hel T

Fiifen :

(a) 3EA FmiE fafy # s

(b) = UF HFHfaw foumes a1

(c) 9= e Svafus, AaeFaras
AT YT o

(d) SE Teiasiiet qen g faf 1 s

o & Wl e B 9EA
(A) - (@), () ¥R (d)

(B) (b), () ¥R (d)

(©) (a), (b), (c) ¥R (d)
(D) (a), (b) 3 ()

SPACE FOR ROUGH WORK / 1% %1d & fod sme
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23. Match Group-I with Group-II. 23. WHE-1 % wqE-11 9 faam #ifew
Group-I Group-II |qe-1 HHE-11
(a) Lotus and Dagger (i) V.D. Savarkar (a) TIRY TS TR (i) S TEER
(b) Abhinav Bharat (ii) Pandita Ramabai  (b) 3198 wRd (i) dfear =T
() Justice Party (i) AurobindoGhosh  (c) ¥f=H Rl (iii) sRfer o
(d) Mukti Mission  (iv) E.V. Ramaswamy (d) g favm (iv) 3.3 T
(@ (b) () (d) @ (b) (o) (d)
(A) (v) () @) (i) (A) (v) () G (i)
(B) (i) () (iv) (i) (B) (i) () (Gv) (i)
(©) (v) (@) (@) (i) © (v) (@) @ (i)
(D) () @v) @ (i) (D) () (v) @) (i)
24. Which Act had the provision of the 24. YRd ¥ fg9mas 1 sgae %1 yEyE 5y
system of Dyarchy ? aifufam F oar?
(A) Act of 1919 (A) 1919 =7 sfufm
(B) Act of 1909 (B) 1909 =1 Hfufay
(C) Act of 1935 (C) 1935 =1 sAfufrm
(D) Act of 1928 (D) 1928 =1 Hfufey
25. Which one is not the qualification for  25. TT=fGfEad T HAE G I o1 Tl &
being elected as President of India ? AT § 9@ E 2
(A) He has to be a Citizen of India (A) B9 XA H A B = |
(B) Should be a minimum of 30 years (B) 38 =IAqH 30 ¥ HI NG H A
of age =fed |
(C) The person should be eligible to (C) 3 TARHY T T a1 ! Arar
become a member of Lok Sabha @ =fed |
(D) The person should not hold any (D) 39 4 % foreht 98 W 7l g = |
official profit
SPACE FOR ROUGH WORK / 1% &/ & forr e
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26.

27.

28.

Which amongst the following is not a part
of Hegel's dialectics ?

(A)
(B)
(©
(D)

Hypothesis
Thesis
Antithesis

Synthesis

Which of the following is the main
function of the Central Vigilance
Commission of India ?

(A) To keep a the
investigation agencies in the

watch on

country.

(B) To inquire or cause an inquiry of an
alleged offence committed by a

public servant.

©

To expedite the disposal of criminal
cases pending before courts.

(D) To scrutinize the utilization of
development funds sanctioned by

the government.

In 2018, US and Russia withdrew from a
major treaty arrangement of cold war

period, that is
(A)
(B)

Intermediate Range Nuclear Force

Anti-Ballistic Missile Test

Agreement
©
(D)

Strategic Arms Limitation Treaty

Four Continent Peace Initiative

26.

27.

28.

Frefafed | | S 91 =0 T & garcAehdl
1 R ?

(A) fERe

(B) U&

(C) foua

(D) H9&

Frafofiagd § 9 %19 91 YR F Fsa Gashdl
SATERT 1 WE % B 2

(A) I FTHEA HTHFHTN T A &

Tl o 9as o o ARGl ) S
1 S 1 WA &1 W HET

(B)

AT F TAe Ffad Tl @ ad
Fger T

T g fayife fawm fafu &
TR HI WG HET

©

(D)

¥iid g5 & e H g0 U HeA wiY sHae |
a4 2018 H Z.UH. TE FH S 8 T A1 Wiy
g :

(A) z=dafere = e v =

(B) u=t-dfafes firame wlam sgawen
™

(C) wmfis wea Himidiehto | ™
(D) =R wEeEl | wifd # 7ee W

SPACE FOR ROUGH WORK / 1% &4 & fordr sme
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29.  When was the first meeting of constituent 29, TR T T 9H A3F el g2 off ?
assembly was held ?

(A) 9t December 1946 (A) o feHsR 1946
(B) 9% November 1946 (B) 9 TTER 1946

(C) 9™ January 1946 (C) 9 SFeT 1946
(D) 9t October 1946 (D) 9 AT 1946

30.  Arrange the following events in correct ~ 30. e Tz I B TS IR F ety
chronological order. HifSrg |
(a) 11'"SAARC Summit (@) 119 9 foray gaiem
(b) Operation Vijay (b) ATIIA faery
(c) Attack on Indian Parliament (c) YRHM ¥ W g9en
(d) Launch of Amritsar-Lahore Bus (d) STHIE-TER 9 &l 7 Pary

Service
(e) Attack on Pathankot airbase (e) TSI TS T EHeAT
(A)  (e), (b), (), (a), (d) (A) (e) (b), (©), (), (d)
(B) (), @), (e), (c), (b) (B) (d). @) (e), (), (b)
(©) (@), (), (d), (c), (e) ©) (@, ®), (@), (©) (e)
(D) (d). (b). (c), (a), (e) (D) (@), (b), (c), (a), (e)

31.  Which one of the following is not the core ~ 31.  fi=1 & @ dmigta ueifa & fafzq
element identified with realism in SRAHASE FT G 157 8 22
international politics ?

(A) Statism (A) TEE
(B) Power (B) wfFm
(C) Prudence (C) faa=w
(D) Economic interdependence (D) snfdfw st
SPACE FOR ROUGH WORK / 1% &Td % fordt =g
Set - A
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32.

as.

34.

Which is unmatched in the kinds of 32.

Leadership propounded by Terry ?
(a) Charismatic Leadership

(b) Personal Leadership

(c) Authoritarian Leadership
(d) Indigenous Leadership

(A) (a)

(B) (a), (b)

(©) (@) (b), (©)

(D) (@), (), (c), (d)

Who is the author of the book called “The 33.

Second Sex” ?

(A) Frantz Fanon

(B) Hannah Arendt
(C) Simone de Beauvoir

(D) Gramsci

Symbols to the political parties at the time 34.

of elections are allotted by :

(A) Election Commission of India
(B) CEO of the State

(C) Returning Officer

(D) District Election Officer

= g wfomfea g & yeR § @ gaferd
e

(a) e g
(b) =A™ g
(c) SRR T
(d) T g
(A) (a)

(B) (a) (b)

© (@. D) (©

(@), (b), (c), (d)

‘'z Yae oW’ 9F YEIH & AG@F FHH
€2

(A) m T
(B) TS

(C) fawr g-dian
(D) wwEht

FAE & THA TSHIaE sl g9 fow

(A) ¥R & frafem s g/
(B) T4 & A fafer 3T g
(C) fraf=a sifusit g/

(D) fsen frafem safuserd g

SPACE FOR ROUGH WORK / % & & fad wmg
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35.  Which of the following is unmatched in 35,

the context of POSDCORB ?

Uregshrel % HeW F 1 gaferd W 87

(2) Planning (a) Frr

(b) Organisation (b) T

(c) Selection (c) =

(d) Direction (d) fwm

(e) Co-operation (e) wEEM

(f) Rationality () @ifgwa

(8) Budgeting () faw

(A) (@), (@), (@ (A) (@), (o), (d)

(B) (b), (d), (g) (B)  (b), (d), (g)

©)  (© (). (6 (©) (9 (e) (B

(D) (b), (e) (g) (D)  (b), (e). (g)
36. Machiavelli was a : 36. WAfHadett o1

(A) Republican (A) frafssrera

(B) Monarchist (B) WHRfEH®

(C) Aristocrat (C) TufErke

(D) None (D) g +ft 7

SPACE FOR ROUGH WORK / 1% &Td & fodl wme
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a7.

38.

Which of the following statement/s  37.

is/are correct with regard to Kautilya's
thoughts ?

(a) King is paternalistic and

constitutional slave.

(b) National interest is the only
permanent character of foreign

policy.

(c) State is a police-state which uses
dandaniti as its coercive power.

(d) Half of the agricultural produce
should be collected as tax by the
King.

Select the correct answer.

(A) (a), (b) and (c) are correct.
(B) only (d) is correct.

(C) (a) and (b) are correct.

(D) (c) and (d) are correct.

The term ‘Cold War’ was first used by an 38.

American statesman on April 6, 1947, he
was :

(A) Bernard Baruch
(B) Stanley Hoffman
(C) Hedley Bull

(D) None of these

Fifeed F fa=m & wadl # frafafeg § 4
FF-T1/H FI W 8/F ?

(a) T, Uy 3w Jenfaer e B )

(b) T fom Few fadw Hifa w5 wmwdh
eI R

(c) T4, gfaa-Ts4 B Sl queHifa &l 39e
s wfs % w9 § 99m 1@ )

(d) =i YSER &1 AT Y TS G FF
wq H G faan s =fen |

WEl ST 1 =9 hifay |
(A) (@), (b) 3R (c) & F
(B) Had (d) WE £
(C) (a) 3R (b) WE T |
(D) (c) ¥R (d) T 21

6 TS, 1947 =l ¥id & IS &1 START Teelt
IR U ST TSar A fFan o, g o -

(A) wAlS a%d
(B) Tl BFRHIA
(C) et 3w
(D) & = T

SPACE FOR ROUGH WORK / 1% &1d & fod g
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39. Arrange the following Presidents of India
in order of their year of assuming their

office :
(@) R. Venkatraman
(b) V.V.Giri

() Neelam Sanjiva Reddy
(d) S.D. Sharma

Which order is correct ?

(A) (@), (b), (0), ()

(B) (c), (b), (a), (d)

©  (®) (. (@), @

(D) (b), (), (), (d)

40. Which of the following statement is not
correct about National Food Security
Act, 2013 ?

(A) The fundamental right to life
enshrined in Article 21 of the
Constitution may be interpreted to
include the right to food.

(B) Under the Act special provisions
have been made for pregnant
women and lactating mothers and
children in the age group of
6 months to 14 years.

(C) The National Food Security
Act, 2013 marks a paradigm shift
in the approach to food security
from welfare to right based
approach.

(D) To
empowerment, the Act makes it
mandatory that PDS shops should
be owned by women only.

encourage women

39;

40.

frefafan s oeafmt 1 57% 12 99
%mawr@:

(a) SR Sy
(b) e firdt

(c) Wmi@
(d) THE. 9w
1 °1 5 W R 2
(A) (@), (). (c), ()
(B) (@), (b), (a), (d)
(©) (b). (), (@), (d)
(D)  (b), (), (c), (d)

T @ geen sifufem, 2013 & oey ©
Freferfian 3 & = 1 Fo wdt g 22

(A) v wfaum #1 g 21 F st
Wed, Sftem % sifusn i smwen #)
951 % sifusr 1 |fmfeg fear o
el §1

(B) ¥ HAfulfam ¥ wga, nvfadt afeemsii
ST U el Afecisd td 6 T g
14 39 % % =1 % ford fodie waee
3 m &)

(C) U @ wran sifufm 2013, @
T, wemErd 3ur’ & ¢ e
ST SYFH ' T 3R afterds =1 Sfirg
A E

(D) ifeeT TR i FemEn 3 ¥ fod
Afafrrm @5 sifarf s 2 i,
e faao yomeft 3 sfarta oo
S Afeansi & @t o € 8

SPACE FOR ROUGH WORK / 1% %14 % fort wme
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41.

(a)

(b)

(©)
(d)

42,

Match the following in context to the

Indian Constitution :

Abolition of (i) Article 30
Untouchability
Rights of Minorities (i) Article 17

Protection of Life (iii) Article 18

Abolition of Titles (iv) Article 21

The correct match is :

(@ (b) (o) (d)
(a) @ @ (v) (i)
® @ @) Gv) ()
© @) (@) (v) ()
(D) @@ (@) (@) (v)

With reference to the procedure for
changing name of the state, which of the

following is true ?

(a) Bill for such purpose as to be
introduced in Lok Sabha only on the
recommendation of President.

(b)  Bill for such purpose is a constitution
amendment bill.

(A) Only (a) is correct

(B) Only (b) is correct

(C) Both (a) and (b) are correct

(D) Both (a) and (b) are wrong

41.

(@)

(b)

(©)
(d)

42,

it Wi # g 4 wd qafea
FifT :

ST I 3 (i) T=T 30

ACITEIH] &
ATYFR

(i) TTRT 17

HTOT THT H&0T

e 1 &

I | WE gAfea €2
(@ (b) (o)
i @@ @)
B ® (iv)
(©) (i) (v) ()
(D) @ (i) (iv)

(i) FT=T 18
(iv) =% 21

@
(i)

(i)

(A)

forelt Ts1 =1 w9 ofEfda &+ Wi o

Frafafad & & 0w €2

T YK & TEE F1 G899, A
# wr agufa #t seer ¥ & wa
feman s Tehe €

T YHR & y=E F1 fagaw giagum
Y %1 fa8as g &)

A (a) HE
A1 (b) TE B 1
(a) 3 (b) ST =& ¥
(a) ¥R (b) I e 1

(a)

(b)

(4)
(B)
(©)
(D)

SPACE FOR ROUGH WORK / T% &T4 % g wrg
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43. Assertion (A) : 43, AYHYT (A) :
India’s nuclear policy stands on the I F A i 79 o W Fm  fw
conviction that global elimination of fova & et sl =1 @ ura w5 @
nuclear weapons will enhance its security & afesh I fava # off qran § gfg wom|
as well as that of the rest of the world.
Reason (R) : T (R) :
India’s nuclear programme aims at IR 1 kT s favageta =mam
credible minimum deterrence and is e qen Faer ok Fae oo & %
strictly for self defense. fom 21
(A) Both (A) and (R) are true and (R) is (A) (A) T (R) ST &7 & 7901 (R), (A) FT
correct explanation of (A) & = T |
(B) Both (A) and (R) are true, but (R) is (B) (A) @2 (R) I &% § W (R), (A)
not correct explanation of (A) =1 Hel e TE R
(C) (A) is true, (R) is false (C) (A)® A E, (R) Tord 21
(D) (A) is false, (R) is true (D) (A) &4 g, (R) T 1
44. Anti defection provisions are contained  44. TO-TEE A YEYUF WRG F Hfaur i
in which schedule of the Indian Torg a9t 4 %2
Constitution ?
(A) Schedule 9 (A) ST 9
(B) Schedule 10 (B) g 10
(C) Schedule 11 (C) S5 11
(D) Schedule 12 (D) Y= 12
SPACE FOR ROUGH WORK / 1% &4 % ford e
Set - A
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45.

46.

47.

What is correct about management by  45.

objectives ?

(a) Itis also known as management by
result

(b) It was first popularized by
Peter Drucker

(c) Peter Drucker propounded this
theory in his book ‘The Practice of
Management’

(d) The book was published in 1975
()

(B) (), (b)

(©) (@), (b). ()

(D) (@), (b). (c). ()

(A)

Plato wrote : 46.

(A) Politics

(B) The Laws

(C) Political Economy
(

D) Polity

Who amongst the following talks about  47.

“Good Citizens” and “Good Man” ?
(A) Confucius

(B) John Locke

(C) Plato

(D) Aristotle

RE g T S o d = Ed €2

(a) 39 9ROTH BRI WEEA % 9 H of S
e &

(b) T wUHE: Fe TH A AT T

(c) g A 5 fagr = ufeare 7ot
g&  fo Ufeew wife Tsmve’ | fean

(d) 9% q& 1975 § Wehifva g

(A) (a)

(B) (a), (b)

©) (@) (b). (©

(D) (@), (b), (c), (d)

wrer ¥ e
(A) wrHifd
(B) T
(C) TsHifaew srefeaze
(D) T

frafafas § 9 =9 o= smfl’’ @it
“ oo TEl w2

(A) FHABREE
(B) T wAlH
(C) ==&
(D) &g

SPACE FOR ROUGH WORK / T% &m& & fordr Wi
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48. Who authored New Humanism - 48,  gH - T A fa foman ?
A Manifesto ?
(A) Gandhi (A) Tt
(B) M.N. Roy (B) TWH.WA. ¥
(C) Aurobindo (C) s
(D) Mao (D) wsf
49. was arrested by the US police ~ 49. &9 2011 ¥ ISI % W1 firea #5991 51 wm
in 2011 on the charges of spearheading T R F H B F o
separation of Kashmir from India in 1 9,79, Ifew 3 fremm fwan o
association with the ISI.
(A) Sayyad Gulam Nabi Fai (A) I T et wE
(B) Zakir Abdul Karim Naik (B) T Teg@ W AEw
(C) Abdul Hamid Fayaz (C) 31sge wHiE T
(D) Zaki-Ur-Rehman Lakhvi (D) SIThI-3X-YEqH e
50. Gandhian concept of Swaraj is marked 50, it F WO w1 Heheq e | ferwrd 2fefa
by the following : A ?
(a) Critique of modern civilization. (a) oY g F T 9
(b) Rejection of Western Industrialism, (b) I ST T T
(c) Critiquing the modern state. (©) =myfrer Tdl wt STETEAT FET
(d) Attainment of Sarvodaya through (d) Tt & gt w9 F mem Q
all forms of decentralization. Halled i @8 HI TG FE
Choose the correct answer from the =1 5 @ w3 = ghe
below :
(A) (@), (b), (c) and (d) (A) (@), (b), (c) 3R (d)
(B) (d)only (B) % (d)
(©) () only (C) %9 (o)
(D) (a) and (b) (D) (a) 3R (b)
SPACE FOR ROUGH WORK / T% &4 & &g we
Set - A
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L A

(@)

(b)

(©)

(d)

52.

Match the following :

Inclusion of (i)
fundamental

duties

Abolition of (i)
Right to Property

Voting age
reduced
from 21 to 18

Free and

i)

(tv)
Compulsory
Education to

all Children
between 6 and
14 years

(@) (b) (o)
(A) @ @) (i)
(B) (i) (i)
© @ (@) (@)
(D) (@) (@) ()

Who are related to Ecological Approach 52.

51.

42nd
Constitutional
Amendment

61 st
Constitutional
Amendment
441h
Constitutional
Amendment

86 th
Constitutional
Amendment

(d)
(iv)
(i)
(iv)
)

to the study of Public Administration ?

(a) LM. Gaus

(b) Riggs

(¢) Dahl

(d) Waldo

(A) (@

(B) (a), (b)

© (), ), (9
(D) (@), (b), (), (d)

fr=fafas =1 faem =1 .
(a) wifasw wd= (i)
& MY F=T

(b) wufa & AfuPr (i)
T FEIE BT

(c) WIeH % AYFR (iii)
Fl g
21 9 18 % M
(d) 6-14THTHFF (iv)
|/ F=
ﬁ:ﬂ(‘fﬁf{'q;
sifard fam it
e

@@ (b (9 (d)
(A) O @) (i)
(B) (@) (iii) (i)
© @ (@) ()
(D) @) (@) (v) ()

(a) SR M9
®) fow

() ===

(d) @

(A) (a)

(B) (). (b)

© (@), (®) (o)
(D) (), (b), (9), (d)

42 &1
Hfaum
YA
61 af
EIERIE]
TINeE
44 9
wfgum
Yy
86 dl
EIERIE
HNeA

T U ¥ e ¥ yireefas summ
T B grafd § 2
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53. Choose the correct answer : 53. W& IW gD -
(@) Members of the committee on (a) WEReH WUfG % 9= deEY gM
Estimator are elected by Loksabha. A ST |
(b) The Chairperson of the committee (b) WEEREH WiAfG % sreaw #1 fgfa
on Estimate is appointed by the TNHEYT STE8 G 39w § @
Speaker from amongst its members. 1 S T
() A minister cannot be elected as a (c) I8 T3, wrRe wfhfa =1 v TE
member of the committee on A1 S 9|
Estimate.
(d) The term of the office of the (d) R AfEfa w1 FEwE F 9 w5
committee on Estimate is one year. BT
(A) Only (a) and (c) are correct. (A) ¥ (a) 3R (c) W& T
(B) Only (c) is wrong,. (B) HME (c) e ¥
(C) Only (b) and (d) are correct. (C) = (b) iR (d) W&t €1
(D) All are correct. (D) | uet €1
54.  Which of the following statements is true  54. fr=fefas ¥ & 9 a1 a9 dwds & feg
for democracy ? TE R
(@) Supreme power with President (a) WUl &t iy vl
(b)  Rule of people (b) SHa1 F WMEA
()  Equal share of power (c) Wi =1 o faau
(d)  System of decision making (d) Tofg &= T e
Mark the correet answer. el 3T F1 3fra Hifora
(A) (b) and (¢) (A) () #R ()
(B) (@) (c) and (d) (B) (@) (c) 3 (d)
(© (), (9 and (d) © @) () 3 (@
(D) (), (b), (c) and (d) (D) (@) (b) (c) ¥ (d)
SPACE FOR ROUGH WORK / 7% &1 & fod we
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35.

56.

Identify the correct characteristics of
political development as mentioned by
Lucian Pye.

(A) Equality, legitimacy, authority
(B) Capacity, rule of law, equality
(C) Equality, capacity, differentiation

(D) Authority, supremacy of law,
legitimacy

Which of the following is/are not the
Support system based on feedback in the
systems theory model propounded by
David Easton ?

(@) A group that promotes decisions
through common, peaceful action.

(b) A Constitutional arrangement to
process popular demands.

() An extra-societal component
comprising non-political entities.

(d) A specific organised structure to
implement decisions.

Select the correct option :
(A) (a) and (c)

(B) (b) and (d)

(©) only (c)

(D) only (d)

55.

56.

SfaE U g IeifiEd, UsHifas fasm &
we feriwamsdi &1 ve=m e

(A) HAF, SE, iR

(B)  &¥wdl, ST WA, HHE
(C) Tuma, &, fasie

(D) HAUFHR, FEF At G, A9

2fas 3 g/ wiawifeq yonelt fagia aiea
4 yfayfte smafa e goret f= 4 9
-9 TRl & ?

(a) =& TYE S H S wifqgol e
H fvia =i &mar =1 e 8

(b) <irwfiE A1 w1 yFE F UH d3ufiE
e |

() uFaAfaRF-wmifas w=w faoy
Y- e ¢ |

(d) ﬁﬁaﬁmmﬁ#wfﬂs’mwﬁa
AT

@ fawen =1 9f

(A) (a) ¥R (o)

(B) (b) 3R (d)

(©) F ()

(D) 9 (d)
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57.  Which of the following is the correct

description of Non-alignment ?

(A) Policy of neutralization, which
avoids any position in times of
peace or war.

(B) Policy of isolationism, that makes
the countries unconcerned about

global issues.

(C) Policy of Equidistance, which
enables countries to keep silence
during a conflict.

(D) Policy to take independent decisions

57.

“frfe &1 Wl 9ie e § s

(A) weeitwT @it Hifa, < wifsr stgen
g ¥ frdt oft v & Ty 7 g

(B) erermEars &t ifa, S afvas e
R FIE wlafswan 7&f 2

(C) HHMGH =i ifq, s 29 = gud &
A @ 2|

(D) wifmrelt < & Sora ® o F s

and take stand as per the merit of ol AT fod Y e H T gu R
issue, safeguarding national interest 1 Argaiel | T ¥ 4 fofa s
without pressure from super 4
powers.
58. Which of the following is not a principle ~ 58. 7 § § ®iH-w yusiter %1 v fagia 78
of Panchasheel ? L
(A) Mutual respect for each others (A) UH TW F -9 @ ¥ fom
territorial integrity AT HefeER
(B) Non-interference in internal affairs (B) Hider e # sy e
(C) Periodic review of each others (C) Teh THL S &N aail W Aafers Titen
defense forces
(D) Non-agression (D) 3R &
SPACE FOR ROUGH WORK / T% &Td & ford smg
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59,

60,

61.

“Violence is the natural state of colonial
rule” - who said so ?

(A) Hannah Arendt
(B) John Rawls
(C) Mao Zedong

(D) Frantz Fanon

Which one of the following is not
applicable to citizen’s charter ?

(A) Citizen’s charter initiative covers
the Central Government and State
Government both.

(B) Citizen’s charter initiative is legally
enforceable.

(C) Citizen's
expectations of the organisations

charter includes

from citizens for fulfilling the
commitments of the organisation.

(D) All are applicable.

Who gave the slogan - “Back to Vedas” ?

(A) Sarojini Naidu
(B) Dayanand Saraswati
(C) Vir Savarkar

(D) B.G. Tilak

59,

60,

61.

" sirafrafrs wA W wesfae s féa
2" - I% fFua YA B2

(A) TRUES
(B) S Uew
(C) R frei
(D) %=E &

AR =eon 93 & ol fsifed § 9 29
HI =T ] & et ?

(A) AR S9ON 93 9RE, g 9N ol
T TUHR SHI i 3794 SRR H ot & |

(B) IR SIYOT 9 Y& HITA T Y 0]
foran < wera &1

(C) ¥Hem #it yfqargasdi & q0 F &
fera, Fmftr soon o3 &, amfii @
aTyed, wftfera 2 €

(D) | T S Hepe! €

foes @@ </ fear o '3 ¥ um Ay
A’ ?

(A) TS ATag
(B) TIM= HGE=T
(C) = et
(D) =itsft. foeew

SPACE FOR ROUGH WORK / T% & % forsr sg
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62. Find the right answer : 62,

()

(b)

(©

(d)

(A)

(B)
(©)

(D)

63. Who of the following authored the book = 63.

Foreign nationals in India are given
the right of prohibition of
discrimination on the grounds of

religion, race, caste, sex and place
of birth.

Foreign nationals in India are given
the right to elementary education.

Foreign nationals in India are given
the right to equality before law.

Foreign nationals in India are given
the right to equality of opportunity
in matters of public employment,

All are correct
Only (b) and (c) are correct
Only (a) and (b) are correct

Only (a) and (c) are correct

WEr 3T F1 997 H1 :

(a) Toresft At @ vra #, o, 7=,
Shfa, feim 3 5 e & TR
eurE ¥ fowg fey =1 sifusr ara
?l

(b)  Toreei AT 1 e o werfires faen
F AFR T |

(c)  Toreeft =mifiehi =it v & s o wwey
HHFAT & SR g 7

(d) et A & yra 3 @ Jemr
o TR H HHTAT T ST |

g T@ ¥
(B) M (b) 3T (c) W& T

(C) HM (a) 3R (b) TE T
HTH (a) 3R (o) T ¥ |

(A)

(D)

‘e TR i fEepm’ e g e

“The Anatomy of Revolution” which ferean  fore fidiiere & 7 <o faw o %2
mentioned 7 stages of revolution ?
(A) Crane Brinton (A) %A for=a
(B) Althussar (B) ATYW
(C) Carlyle (C) HTaiisa
(D) Edmund Burke (D) UsHTE §F
SPACE FOR ROUGH WORK / % &4 & ford =g
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64.  Who has the power of Judicial review in ~ 64. WRd ¥, fr=ifra & ¥ faods Tw =nfrs

India, among the following ? JEeeh 1 AR # 2

(A) Parliament (A) =g

(B) Only Supreme Court (B) W= I=TH =aad

(C) All Courts (C) |4 =T

(D) Supreme Courts and all High (D) S=H FEEd R 9t 3= =
Courts

65.  Which, according to S.E. Finer, are the  65. TH.3. HITR % A{ER 7ot ¥ Todm ghiay

features of parliamentary opposition in 1 fordman ® :

England ?

(a) Unorganised opposition (a) rEnfed wfdus
(b) It is permanent (b) FETRTE

(c) Itis representative (c) =% wlafafum @ &
(d) It is participant (d) I HERT

(A)  (®), () (d) (4)  (b), (0), (@)

(B) (). (), (0) (B) (@) (b), ()

©) (@) (© © (@) (

(D) (a), (b) (D) (a), (b)

SPACE FOR ROUGH WORK / T% &4 % f&rd smig
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66. Which of the following is not correct for ~ 66. ¥WRd % Taraw /M & fod Fraifera & |

Election Commission of India ? I T TE T § 2

(A) The President appoints Chief (A) & fratem s i fratem s
Election Commissioner and Election % fgfaa wzafa & g/ #1 St )
Commissioners.

(B) The Chief Election Commissioner (B) H=A frate smgaa =l 7% 95 ¥ W
can be removed from office only THE R HRIEI i wlEe gr @
through  impeachment by BT S WA € |
Parliament.

(C) Chief Election Commissioner has a (C) W& fataa s =1 Frdee 05 i
tenure of 05 years. TR

(D) The decisions of the Election (D) Traf= s & favfg w1 s=mm
Commission can be challenged in EeE SR IS e o A &
the Supreme Court and High T Heft € |
Courts of India.

67. Given below are two statements, one 67. M fRu T T FeFi 1 v (A) a1
labelled as Assertion (A) and the other /T (R) § Twifsha foam = &

labelled as Reason (R).

Assertion (A) : ATHFRUT (A) :

In the western advanced nations, civilian afvedt fawfaa 2o & s wftsr =

authority is superior to the military. IR § FEd W T

Reason (R) : T (R) :

Military is predominant in African It SO H = stfees g )

nations.

Codes : e :

(A) Both (A) and (R) are true and (R) is (A) (A) 91 (R) S 9 & T4 (R), (A) F1
the right explanation of (A). HE TS |

(B) Both (A) and (R) are true but (R) is (B) (A) @ (R) B ¥ ¥, W (R), (A)
not the right explanation of (A). i el =T T T

(C) (A) is true, but (R) is false. (C) (A) ¥ &, 9% (R) T )

(D) (A) is false, but (R) is true. (D) (A) 7@ §, 9% (R) 94 21
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- 68.

69.

Which of the following indicators is

currently not used in the Human

Development Index (HDI) ?

(A) Real GNI per capita (PPP $)

(B) Employment Rate

(C) Life expectancy at birth

(D) Educational Attainment

Match the following :
List-A

Absolute Liberty can (i)
be given to one person

Where there is no law, (ii)
there is no liberty

Man will forced to be (iii)
free

Liberty means the (iv)
absence of restraints

@ () () (d)
(4) @ (v) @) (i)
(B) (i) (i) @ (iv)
(© () () [dv) @
D) () @) @) (i)

List-B

Hobbes

Leackok

Locke

Rousseau

68.

69.

(@)

(b)

(c)

(d)

frfafaa & & % @ s, adom §
A4 s gais | ygaa et s ?

(A) ar=fa® GNI vfa =afm (%3 wfss
& §)

(B) TSR
(C) 9 % W9, Sa Femn <X
(D) Sreaforr wiftq

AT o S (v) E
T HYE § -

@ () (9 (d
(A) ) (v) @ (i)
(B) | (i (@) @ (v)
(©) () @) @v) (i)
D) Gv) @) @) ()
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70. In a society where cultural, political and ~ 70. UH ®HIS foed, wiepfasw, il iR
economic spheres are dominated by males anifefer &y TX Qe 1 9 B €, gl €
is a(n) :

(A) Plurist model (A) WEAAR] HISH

(B) Gendered division of labour (B) &9 = St 3G farsrs
(C) Patriarchy (C) TagadTT®

(D) Elite model (D) Taf¥reamE Atew

71. In the context of Democracy which of the ~ 71. WoIaa % He¥ # =1 § | #17 gafaa &
following is unmatched ? €7
(a) Plato (a) =
(b) Aristotle (b) SE
(c) Machiavelli (c) wferameEt
(d) Hobbes (d) @

() Locke (e) @f®

() Rousseau () &4

(g) Hegel (g @

(A) (b), (d), (e). () (A)  (b), (d), (e), ()
(B) (@) (c) (d), (g) (B (@ (© @ (g
(©)  (b), (d). (e), (g) (©)  (b), (d), (e). ()
(D) (@), (o) (), @) D) (@), (o). (d). ®
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72.  Through which of the following the 72, F=1# & frgh g SEIHETh| o Ffafafiea
minorities representation can be 1w fome s g 7
effectively secured ?

(@) Cumulative vote system (a) E=dt 9 yomed

(b) Simple majoritarian system (b) TES SgHEF YU

(c) Direct democracy () 9u& Sy

(d) Proportional Representation (d) emufas wfafafus

(A) (o) and (d) (A) (o) ¥R (d)

(B) (a) and (o) (B) (a) 3R (c)

(©) (b)and (o) (©) (b) 3 ()

(D) (a) and (d) (D) (a) ¥R (d)

73. Indo - US Nuclear Deal of 2008 : 73. WRA-Z.UH. TYEE HaE9 2008 -

(a) makes India eligible to buy US dual- (a) WRd # 4.TE. F fF-swrht Tfies
use nuclear technology STt A @ie % Arg s

(b) paves way for India to join NPT (b) 4R ® NPT & wifter 89 =1 T

| HAl 2

(c) brings India’s civil nuclear (c) WRd % it it sy =5
programme  under TAEA IAEA & @eferor % sfafa oy &
surveillance

(d) allows India to enhance the striking (d) ¥R =l 319 fehte eforaml o wre
capacity of its nuclear war heads &9 | gig i HPHA < B

Select correct alternative/s : w# fashey gfiw

(A) (a) and (b) are correct (A) (a) 3R ()T ¥

(B) (b) and (c) are correct (B) (b) &R (c) &l &

(C) only (c) is correct (C) %ad (o) Wl &

(D) (a) and (c) are correct (D) (a) 3R (c) =t §
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74. Match the following in the context of 74, &fusRl % fagral & Ao F Hed o
Theories of Rights with their supporters : fr=ifera =1 gafea Hifaa
List-A List-B geEi-A qei-B
(Theory) (Supporters) (fagr=a) (wmede )
(a) Natural Theory (i) Hobbes (a) WTRfaew SATEFR] (i) @H
of Rights &1 fagr
(b) Legal Theory (i) Mclver (b) dufrer fmri (i) HeTEH
of Rights w1 fagr
(c) Public Welfare (iti) Locke (c) i HeAHRT (i) @ATH
Theory of Rights il =1 fagra
(d) Historical Theory  (iv) Laski (d) Uferfas sifyeri (iv) @R
of Rights =1 fagr
(@ (b) () (d) (@ (b) (o) (d)
(A) (@) @v) () @) (A) (@) @v) @G) @)
(B) @ @) (v) (i) (B) @) @) @v) ()
(©) @) @Gv) () () © @ @Gv) @ ()
(D) (v) (@) @ () (D) (v) () @ (i)
75.  Which of the following is not a function ~ 75. TAmfafad # & =1H T %@ WU, (CAG)
of the CAG ? FAGE?
(A) Audit of expenditure and receipts (A) #=a fAfu & 87 a1t =@ qen wfea
to the consolidated fund Tafly # it = <@ udiegor
(B) Auditing of accounts of institutions (B) TR BN Ios WM aTeit HEAIS] &
run by the government SAGIHA T G G |
(C) Toadvise the Planning Commission (C) AIST SRR i Aros o fama ue
on financial aspects of its plans TgFE |
(D) None of the above (D) 39l H H FIE TE
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76.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) :

Proportional representation with single
transferable vote system is more
representative than other systems of
representation,

Reason (R) :

In majoritarian system the minorities
do not find adequate representation.

Codes :

(A) Both (A) and (R) are true and (R) is

the right explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the right explanation of (A).
(©)

(A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

76.

f=1 2wt Ft afumaw (A) 7o
/T (R) § iR fobam o

FUHIT (A) :

THe! TIAIRIT 7 JOed Srell S
wfaffers, wfafafie & s wonferti g s
wiaffers 23 aren g &)

@IOT (R) :

TEHETF YUeht § STeqHE® i yar| ®9
A wfafafee 7 foet ot 2

(A)  (A) 7@ (R) 21 57 € 9971 (R), (A) Ft

et =men ¥

(A) 71 (R) <l & ¥, 9 (R), (A)
F TE AR TE B

(B)

(©) (A) &l 8, T (R) Tor &

(D) (A) o §, T (R) W&t &1
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77. Which one of the following is correctly ~ 77. 7= # H-o1 wé fem §2
matched ?
(A) Property as product : Proudhon (A) WU HFS 99 H K]
of human labour IR T
(B) Property as theft : Marx (B) W *FEIH ) AR
Eereein|
(C) Property as : Aristotle (C) THES % &Y :
instrument H gefg
(D) Property as : Locke (D) MR IR F SIED
appropriation of e & 9 H
surplus value T
78. What is correct about Marxism ? 78. WIERIAE & o H W@t e ?
(a) Scientific socialism (a) S FHSER
(b) To each according to his ability to (b) FArFFaHER & & AR ATTIR
each according to his needs i
(c) Classless stateless society (c) EH TR A
(d) The state will be dissolved (d) A faEfea & smam
(A) (@) (A) (a)
(B) (a), (b) (B) (a), (b)
©) (@) ) (© © (@), @) ()
(D) (a), ®), (), (d) (D) (@), (b), (0) (d)
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79.

A political party gets recognized as a

National Political Party,

()

(b)

(c)

(d)

(A)
(B)
©

(D)

When it secures at least 6% of the
valid votes polled in any four or
more states in general elections to
the Lok Sabha and in addition, if it
wins at least four Lok Sabha seats
from any state or states.

When it secures at least 10% of the
valid votes polled in any four or
more states in a general election to
the Lok Sabha and in addition, if it
wins at least four Lok Sabha seats
from any state or states.

If it wins at least 2% of seats in the
Lok Sabha i.e. at least 11 seats in
the house of 543, and its elected
members are from at least three
different states.

If it wins at least 4% seats in
Lok Sabha i.e. at least 22 seats in
the house of 543 and its elected
members are from at least three
different states.

only (a) and (d) are correct
only (b) and (c) are correct
only (a) and (c) are correct

all are correct

79.

T TSI ST 1, LT TSl oo %

&Y H O 99 faentt <@ 9w,

()

(©)

(d)

(A)
(B)
(©)

(D)

TIRHH & WH gAET 4, R A
a1 At T H Fer a4y wal & 6%
T Y, T &, o8 R v o
H %9 § %9 =R sieay &6 ¥ faery
T e |

S F W g, B =
a1 31fees T | A9 T& #1 10% W
L 3R Ty € 9% et ve o
FH ¥ &9 IR dmgy 85 5 faey
I L |

EHHYI % W GAE 8, Srhga ¥
Fo WA 9T 543 W § ¥ w9 Q
FH 2% TIF, HAT 11 TWH | ooy
T i g, 3R 3 Fraifae sem wn A
HH i o T % &)

SHEA % A AE H F9 Y Hw
4% T S Tof 543 T F 9 g

Y 22 T S 8 3R A Fratfag gee
%9 | HH a9 s v § 28

T (a) 311 (d) e &)
| (b) 3R () FEt &)
AT (a) 3 (c) W& )
st = ¥
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80. Which of the following is a constitutional ~ 80. TF=fafas ¥ 4 =1 & dfaut = fFm
body ? ??
(A) National Child Rights Protection (A) U o1t SAfeenR TR ST
Commission '
(B) National Backward Classes (B) U fuwe ot s
Commission
(C) National Commission for Minorities (C) TN Fugers A=
(D) National Commission for Water (D) TSI STe TET0T ST
Conservation
81. G-20 Summit held at Osaka (Japan) in  81. SRR (W9H) 2019 F G-20 & g5
2019 acknowledged the importance of o “3E+S” % Hew W e fgan I 3E+S
“3E+S”, which stands for .......... H AL T :
(A) Ecology, Economy, Energy + (A) seRrsi, ghAHET, TS + faagfE
Security. ;
(B) Energy Security, Economic (B) TS i, somifas wwifae,
Efficiency, Environment + Safety. TR + T
(C) Emissions, E-governance, (C) HIEM, -7, 3-fasHy + g%
E-business + Safety.
(D) Environment, Economy, (D) FERERIHR, SHAM, T-Had + fas
E-commerce + Synergy.
82. Which of the following is not a  82. fi=fafad & & #M ot favrm sgompfaar
characteristic of multiculturalism ? i e &2
(A) Tolerance (A) HETefear
(B) Liberty (B) T
(C) Specialisation (C) faundraor
(D) Democracy (D) <rhad
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83.

84,

Choose the correct sequence for Policy
Formulation Process :

(A) Agenda setting, Formulation,
Adoption, Implementation,

Evaluation, Termination

(B) Evaluation, Adoption,

Formulation,
Agenda setting, Termination

Implementation,

(€) Adoption,
Formulation,

Agenda  setting,

Implementation,
Evaluation, Termination

(D) Implementation, Evaluation,

Adoption, Agenda setting,

Formulation, Termination

SAPTA is :

(A) SAARC Preferential
Arrangement

Trading
(B) South Asian Preferential Trading
Arrangement

(C) SAARC
Agreement

Preferential  Tariff

(D) South Asian Preferential Tariff
Agreement

83. Hifa fior =it whwen % fordt wé o 9fd

84.

(A) usrer /fdn, farego, Hifg 1 s

(B) Hwgi®d, Fifa &1 sruara s,

(C) fifa &t st s, Qﬁ:«ﬁﬁf‘en

(D) fwamam, wewnis, ifq #1 sroamn

T (SAPTA) ?

(A) W farifemge 2fen vz

(B) wr= 9 e fyihfraa efen ur=riz

(©) ¥ Ty 3w wie

(D) WY wfre fartfeme e
Wiz
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85. Akula II Nuclear Submarine Project,  85. ST 11 A g TS, JRE g
SARAS Duet Aircraft Project and ONGC TR SfEsE qun ST St . fadw
Videsh-Sakhalin I Oil Project are qrEeE 1 @fgd gfeatsan, aRd a9
examples of cooperation between India ¥ T Hedn % $S TH I
and .

(A) Israel (A) TEHA
(B) Russia (B) ®H
(C) Germany ©) ELEl
(D) Japan (D) SmHH

86. “Princess and Governments are far more 86. ‘‘wHSl W 1= gHIedl 9§ AHE WA TS
dangerous than other elements within TR TR Bt 2 1
society.”

Who said this ? 7 e w97 &2
(A) John Locke (A) S wen

(B) Niccolo Machiavelli (B) IREAGIRER I
(C) G.W. Hegel (C) Sh. sy, B
(D) Jean - Jacques Rousseau (D) SiA-<T &6

87. Right to Information is a : 87. HoAI I AfHER g
(A) Fundamental Right (A) Hifas sfasr
(B) Legal Right (B) auifiew IfueR
(C) Neither Fundamental nor Legal ()% Hifersr 3K 7 7 Juf AfwR

Right
(D) Both Fundamental as well as Legal (D) B8 Hifer wd At AR
Right
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88. Which of the following judgement stated ~ 88. Tr=fafEa § ¥ forg fofa & =ar w1

that “Federalism’ and ‘Secularism’ are the "o Frteran’ of  HeEe ! vyRd dfgae
basic features of Indian Constitution ? 1 HAYT faeand € ?
(A) Keshavananda Bharti Case (A) YT TR FHLoT
(B) S.R. Bommai Case (B) TH.3IR. SE Yahul
(C) Indira Sawhney Case (C) e areht yero
(D) Minerva Mills Case (D) o= fies waham
89. Who is known for his dialectics ? 89. T8 ggras wsfa % foaw simn wmr &2
(A) Hegel (A) e
(B) Hobbes (B) @
(C) Locke (C) @i
(D) Machiavelli (D) AfFamEEt

90. Which one of the following is not true of 90, Fifeea % an & fr=1 | 9 1 Wt 7@ 32

Kautilya ?

(A) He sought to make politics (A) 3F TSI # =Ew w6 =ewiE
autonomous and practical. S T i @

(B) He favoured the perpetuation of (B) 39 FUEH Ft 9 HI Friawar #
Varna system. Ecacnicn

(C) He favoured theocratic system. (C) 3HA uvda Fi ohleld Fi

(D) The state should aim at acquisition (D) T 1 T&F Y UM TS THH! &
as well as the preservation of FH F1 & =feg
domain.
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91. Comparative Public Administration is ~ 91. qoITS @i Fomed fHad ww=ifya 32

related to which ?

(a) Empirical oriented (a) STHYERTE!

(b) Ecological (b) et
(c) Nomothetic (c) HMHEFAIER
(d) Ideographic (d) faferedares
(A) (a) (4) (a)

(B) (a) (b) (B) (a). (b)

(©) (@), (b) () ©) (@) (b) ()
(D) (@), (b). (0). (d) (D) (@), (b). (9). (d)

92. The Land Boundary Agreement of 1974 92, 9Rd 3R Selew & WL 1974 HI Y-HH
between India and Bangladesh was TSIl St THiE 92 2015 § 1 T | G
revised in May, 2015. The purpose of this FREE:
agreement is :

(A) Distribution formula of water from (A) FUEERT Y W S HT FAL HGA
Farakka barra_ge o

(B) Exchange of enclaves on the border (B) =i <¥1i ! dimed it X * 3fa: &
of both sides 1 HGeA- Gl

(C) Census of population staying close (C) Him % fepe w@aR @il 1 SEUE
to border.

(D) Construction of freeways across (D) &g Uit & foe |im & aTR-9R
border for smooth transportation. W %1 & T -
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93. Correctly match the following : 93, fr=fafad w1 wé foem #1
(a) Chhattisgarh (i) Narva, (a) TR (i) &, e, YE,
Garuva, EjS |
Ghurva,
Badi
(b) Central (i) Begum (b) % WER (i) AT &SI W
Government Hazarat F1 BEgha
Mahal Girls
Scholarship
{c) Andhra Pradesh (i) Dukan-Makan (c) o7y Wew (i) FHEE-HFH
(d) Central (iv) GOBAR- (d) 8 FT  (iv) TE-4F e
Government DHAN
Scheme
@ () () (9 (@ () (¢ (d)
(A) () @) @) @) (A) () @) @) (v)
(B) () (@) @) (iv) (B) () (@) @ (i)
© @ Gv) @) () © O Gv) G (i)
D) () Gv) () (@) (D) (O (v) () ()
94. According to Aristotle which of the 94, W%Wﬁﬂﬁﬁﬁﬂﬁ@ﬁ@ﬁ?m
following groups was of primary HYfHF w9 7 2 '
nature ?
(A) Individual (A) =fs
(B) Family (B) e
(©) City (©
(D) Club (D) e
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95. What is unmatched in the context of 95. U TiIeh WIEA % acdl & Had § 1 gHian
elements of New Public Administration ? E i 2
(a) Relevance (a) WY
(b) Morals (b) HIER
(c) Values (¢) YA
(d) Innovation (d) e
(e) Leadership (e) Aga
(f)  Unity of command (f) MW H TEHA
(g) Social Equality (g) IS FHFEl
(h) Neither value free nor value neutral (h) 9@ TEIEA 3R 7 & g Fus
(A) (@) (b) (A) (a) (b)
(B) () (d) (B) (o) (d)
©) (o), (H (©) (e). ()
(D) (g) (b) (D) (g) ()
96. Which of these are included in the seven  96. @S =& gRI Rfararfed FHww & |id fagr=i
principles of communication propounded H, 39 9 7 wisfe § 2
by Barnard Chester ?
(a) The channels of communication (a) EHHEOT e fafy=m € =nfee
should be definite
(b) Everyone in the organisation must (b) ETSA % Tl % U WEYY &1 fAfvEa
have a definite formal channel of el ==e B =fEe
communication
(c) The line of communication must be (c) HEYY F TR YW R SR AT
as direct and short as possible =Hifeq
(d) Every communication must be (d) JoF T "ETITUﬁEEI BT e
authenticated
(A) (a) (A) (a)
(B) (a) (b) (B) (a). (b)
© @ ®) © © @ ®)©
(D) (). (b), (0). (d) (D) (@), (b), (0). (d)
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97.

98.

According to Mary Wollstonecraft what  97.

is the key to women emancipation ?

(A) Political Rights

(B) Economic Rights

(C) Education

(D) Legal Rights

Which of this is unmatched in the 98.

measure of managing conflicts in the
organisation as propounded by Mary
Parker Follett ?

(A) Dominance

(B) Agreement

(C) Compromise

(D) Integration

i SeRFHR ¥ TR Afeensdl & Ign
FT Folt FAE?

(A) TSHIfae AR

(B) onf¥w iR

(C) foen

(D) fafuw sifusr

T 9TRT Fiele I wfauifed §rea § ded

F1 w1 H & T o e T §2

(A) 99

(B) HI

(C) =

(D) TehlshTo
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B

Which of the following statements is not

correct 7

(A)

Shanghai Cooperation Organisation
(SCO) is regarded as “Alliance of the
East’.

India became full member of SCO
in 2017.

SCO is primarily a defense group
for Asian Security.

SCO has emerged as a powerful
group to influence world politics.

99, o= o 91 T FuA TE @ B2

(A)

©

(D)

O e |eA (SCO) 1 ' gE Swi
&t G | e

I a9 2017 # SCO 1 T Ui 42
ERil

SCO yrafasht W’ T uferr g &
T P TR

fava Toifa =1 yafem 99 § SCO
vifsrsmet e & &9 H 39T & |

100. Justice based on the concepts of human  100. HFa 3Rl & FAAT W i =3 1
rights and equality is called as : FT FHEA E 2
(A) Legal Justice (A) fafys =m
(B) Social Justice (B) wm™IfSeR =™
(C) Political Justice (C) TSHITaF =
(D) Distributive Justice (D) Tereror =
~-000-~ -00o0-
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SET - A

T fFa FA FTEAT : 292 } { AfereRan 3 @ 200

Time for marking answers : 2 Hours Maximum Marks : 200

1. 39 weA-gfe J 100 TS 999 § - YIS YT 2 30 A &1 W WA wa hon aafard 7
2. Y % SEY € S S UH.3TR. S (3NE-3e) W Hfwa wifen

3.  HOTHS Hodid el ol e |

4. Tl off TE F Fergpore A @S9 UE Hiee B &1 yAn afsda §

5.  S.UH.SR SH-3E (SAE-3E) 1 WA Fwd 9 UH HE SEEEE T /a0 fed T we 9
71 39 Hrg 1 fgerae anfg v 9 oo woasy o8 T & W |

Note :

1.  There are 100 objective type questions in this booklet. All questions are compulsory and
carry two marks each.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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